BASIC RULES OF INDICES-SET-1
WITHOUT FRACTIONAL INDICES
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(a) Write down the value of x~*, 1Y, x% and x* when x = ;.
ANSWET (@) X7V oo
A0 = et ens
1
X S s
X2 S e, 2]
Ms-1 I a4, 1, L, L oe isw I B2 I allow SC1 for any two correct
2 81"=3
Find the value of x.
ARSWEF X = oo [1]
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(a) 3*= %
Write down the value of x.
Answer (d) X =.ceiiiiiiiiiieeiiiieeeeen, [1]

(b) 5=k
Find 571, in terms of k.

Answer (b) 5Y = e [1]
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(@ -1 1
(b) 5k 1

4 Find the value of » in each of the following statements.
(a) 32"=I
ARSWEF(A) 1= e eiearesensanees [1
(b) 32"=2
ARSWEr(D) 1= | iieeeiessessssaressesnrentes [1
(c) 32"=8
ANSWEr(C) B= e [1]
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(b) 0.2 or 1/5 1
(c) 0.6 or 3/5 1V | (b)x3
5 Find the value of » in the following equations.
(a) 2"=1024
ARSWEI(Q) 1= e asssstastststenssessensiraan [1]
(b) 47 3=16
ARSWOI D) = et s a i e 2]
MS-5 (@) 10(.0) I

1
(b) 2-.2.5(0) 2 | M12n-3=2




ax 107 +bx10°=¢x 10°

Find ¢ in terms ol @ and b.
Give your answer in its simplest [orm.

Answer ¢ = (2]
MS-6
10a+borax 10" +b (x 10° 2 | Ml[ax10"+bx10°+10°
7 Find the values of m and n.
(a) 2"=0.125
ARSWer(a) m = ..oeeeeeererrensnsrenens 2]
(b) 27 x2""=512
Answer(b) n = .evesesesseninsienens 2]
MS-7 (a) -3 2 | M11/2° or2?

(b) 1.5 2 | M12%0r6n=29
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Find the value of p and the value ol ¢.
Answer(@ p =, i
A= e srsersesseseens [2]
(b)y 5°+5%=kx5"
Find the value of k.
Answer(b) k= s [2]
M (a) ]:z -1 2 BZJ:iand :lorBl ]:z ;ﬁl
Pms 172 Pmigg Mg Ty 47y
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(b) k=6 2 M1 for a correct statement for k e.g. T or for
the factorisation 5 (5 + 1) =k x 5 or
1
—(5+)=——
625 625
9 Work out.
274x2°
................................................... [1]
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Simplify.

(a) (f}f5)2

................................................... [1]
(b) 4x’y x 5x%y
................................................... 2]
MS-10
}(a) m'® final answer
i(b) 20x°)* final answer B1 for 2 out of 3 elements correct in final
answer or correct answer spoiled
11 10

@ rxr=t

Find the value of x.

(b) Simplify.
o (&)

X

(i) b’ ~a®p’
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(a) 8
b)) | 2
X final answer
16
(b)(11) 5

375 b
a b or —sﬁnal answer
a

B1 for a’b" or a"b’




